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Al 151,646
=X S42 SEAHIA WS 151,646 168,496 16,850
Al 151,646
NAZSSH LX2IA (A EAL) 161,646 168,49%6 /16,850
Al 151,646
101 @124H| 145,646 168,766 213,120
Al 145,646
04 JIZtN2 2N S 2+ 145,646 168,766 A13,120
OXSASSH LXeIMY 22X E==
145,646,000 1 145,646
Al 145,646
201 ger=3| 3,000 4,730 A1,730
Al 3,000
01 At2teltl 3,000 4,730 A1,730
OXNSHSSH LA AtR 2]
3,000,000& %1 3,000
Al 3,000
206 M=l 3,000 5,000 22,000
Al 3,000
01 M= HI 3,000 5,000 22,000
OXSESSH LAeIA THEZH
3,000,000 1= 3,000
Al 3,000
HY2AIHI(AIFEZ M) 240,488 227,940 12,548
el 2| 168,588 188,920 9,668
elit| 168,588 188,920 9,668
101 @124H| 154,220 161,932 2,288
01 &2 88,620 82,419 6,201
OAIZRZR4E 88,620
O6= 12,3213 +36A| 2t+5E » 122 25,875
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SA AZB M
M HZYRAZHI(AEZHL)
=9 elmEet| (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oors 11,1302 #36A12H+ 108« 123 46,746
O8= 9,992 +35A| 2Hx38 « 123 12,590
OXMSIH&HI 85,210,020 4% 3,409
03 SR (RIH )22 U2+ 65,600 69,513 23,913
OZR% 22X 2= 65,600
O123((653) 1,786,000& x2E « 12 42,864
Odoi= 1,786,000 x2Z x240f% 8,573
OF A S A 140,000 <2+ 122 3,360
OuEExH| 120,000 x2& * 122 2,880
OEE=It| 1,786,000 x2E *120% 4,287
Ot Rt &It
11,6002 *BAI2H* 1B 182 +11,600& *8Al 21
dx162 3,156
OS+=Ae=E 20,0002 x2& 122 480
M4 HASFESS 14,368 6,988 7,380
M BRA(RIAHL) 220N BEEERES S 14,368 1,720 12,648
OBFA 22 2eH=
65,600,000 4. 5% 2,952
O33R 22X =0HLEE= 2,612
(@Faksi--ts: 65,600,000& *3.545% 2,326
OFIIRULEE 2,326,0002%12.27% 286
O3%RA 22N LUEMHEES 1,804
OnE:d 65,600,000 *1.75% 1,148
O4tEe 65,600,000 * 1% 656
OEAEY=S 3,500,000& x2&H 7,000
=38l 71,900 69,020 2,880
JI23Hl 71,900 69,020 2,880
201 fer=3| 25,820 25,100 720
01 AtR2te|HI 22,055 21,33 720
oggt=ZH] 12,935
OFAE2E+SH
(25,0002 %19 122 )+0.8 4,560
OFFAHE R 50,0002 x34= 1,700
Oelst & M nEs 7o
3003 *2,0000H 600
OSAPI, Zed EUstEeIX 7 3,075
- SAD| EHIECIAI 7Y
178,200 *3H 535
SAD| EEIHECIX #Y
287, 1003 #2H 575
- ZelZele EUItERIX 7Y
120,000 #4245 x30H 1,440
UXIRRHE EHIERIX 2
175,000 *3H 525
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2A:

ANEB M

M HYRAZHI(AEZHL)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2= HAHI 3,000
S0 M 50,0003 *6IH A= +42] 1,200
Q012 M U e
1,800,0002 %12 1,800
o=l 9,120
OSZ23All 8,000 x19E 64! x 122 9,120
2 s5=34l 3,765 3,765 0
o3 3,765
ogetsH 4303 +2002A 128 1,032
OsJI=# 2,530 *0A* 122 2,733
202 04l 42,480 40,320 2,160
01 2LHoIH 42,480 40,320 2,160
QJ|=2gFF=aoil
180,000& x 19 123 41,040
O3RA2Z Xt bl
20,0002 #32|x2H 122 1,440
203 =] 3,600 3,600
M A2 ARFEI 3,600 3,600
OR NS 300,000 * 122 3,600
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